Dept Production Engineering
Year: Third
Subject: Project planning and Management

Minoufiya University
‘Faculty of Engineering
Shebin El-Kom

First Semester Examination Code: PRE316

| Academic year: 2014 — 2015 — Time Allowed: 2 hours
Date: 22/1/2015 ' Total Marks: 40 Marks -

KU YK—"U' 7 pIAPA /3/ ‘ (7 YJ .
Answer the Following Questions: 7 - '
Question No [1]: : (10 Marks )

a — Differentiate between productmn and productivity. ' P
b- What are the different technology based productivity mlprovement techmques

c- A company for manufacturing certain product has the following data through two

Weeks:
Week No. | Number of produced unit | Number of workers | Raw materials, Kg
1 300 6 45
2 338 7 46
Assume
» The working hours per week = 40 hrs.
» The labor wage per hour. =12L.E
» Material cost per kg. =6 L.E
= Selling price per unit - =140LE
= The overhead cost = HO% of the weekly labor wage.
Required:

i- Calculate the multiple product1v1ty index for the two weeks.
ii- Determine the change in the productwlty between the two weeks.

Question No [ 2 ]: P | (10 Marks)

a — Mechanical equipment can be arranged in a number of ways. What are the most

common conﬁguration used. Show your answer with drawing.
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b- With the aid of neat sketch show a simpliﬁed production system.

c- Find the sequence that minimizes the total elapsse'd time in hours required to
complete the following Jobs on two machines M and N in the order NM. Also
compute that minimum time. | | | 4

‘ k
[ Job . Time required , hrs |
Machine M | Machine N , :
A 0 A |
B z. . :
C 10 8 :
D 4 9 2
E 11 5 B 0
| :
_ ]




Question 3 :- ( 10 marks )

Assume a project completion time of thirty — one days ,
from the data below , perform the following :- '

1- Draw the PERT network .
2- Compute ES , EF, LS and LF.
3- Determine the critical path as well as the total slack and free
slack per each activity .
- 4- What‘is the probability the project will be completed within
thirty days .
5- What is the probability the project will require more than

thirty — three days .
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By using data below , determine the following :

1- The optimum transport schedule .

~ Question 4 : ( 10 marks )
2- The total transport cost
!

( Applying Vogel’s Approximation Method comparing with

the Index method )
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